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Question 
Paper Code Are/Subjects 

No. of. 
Questions 

Sl. No. of 
Questions 

Sl. No. of 
Pages 

101 M First Language – Malayalam (AT) 15 1-15

102 M First Language – Malayalam (BT) 15 16-30

103 E Mathematics (English Medium) 20 31-50 

Read the instructions given in the question booklet cover and the OMR sheet very 

carefully.  

1. The 15 minutes before the one and a half hours of exam time is cool off time.

2. Do not write answers to questions or communicate with others during this time.

3. Read the questions carefully before writing the answers.

4. Paper 1 has 50 questions. Students can write answers to all the questions. Part A

-First Language (AT)-15 Questions. Answer all the questions. Part B - First

Language (BT) 15 Questions. (Only marks for 10 questions with correct answers

will be considered.) Part C – Mathematics - 20 Questions. Answer all the

questions. Paper 1 Total questions 50, Total marks 45.

5. Answers do not have negative or minus marks.

6. Candidates are advised to strictly follow the instructions given in the OMR sheet

and question paper to write the answers.

7. Fill the fields at the top of the OMR sheet before writing the answers.

8. Use only blue or black ballpoint pens to mark the answers on the OMR sheet.
9. Do not write any personal information or remarks of any kind on the OMR sheet.

If they do any such thing, their sheet will be cancelled.

Roll No. 

Question 
Booklet No. 

SET 

A 

Instuctions



Paper – I 
Part – A 

1st Language – Malayalam (AT) 
Question No. 1-15 

1. `mj-bnse BZy- bm{Xmhnh-cW IrXn cNn-̈ -Xmcv?

(A) tPmk^v ap­-tÈcn (B) Fkv.-sI. s]mä-¡mSv

(C) ]mtd-½m-¡Â tXmam-¡-¯-\mÀ (D) Fw. apIp-µ³

2. Xmsg ]d-bp-¶h-bnÂ Fkv.-sI. s]mä-¡mSnsâ bm{Xm-hn-h-c-W-§-fnÂ

DÄs¸-Sm-¯Xv GXv?

(A) Im¸n-cn-I-fpsS \m«nÂ (B) _men-Zzo]v

(C) h³ -I-S-ense Xpg-h-Å-¡mÀ (D) ss\Â Ubdn

3. efn-Xmw-_nI A´ÀP-\-¯nsâ IrXn-I-fnÂ s]Sm¯tXXv?

(A) {Kma-_m-enI (B) Aán-km£n

(C) Bß-IYbv¡v Hcm-apJw (D) \nim-KÔn

4. Xmsg ]d-bp-¶-h-bnÂ ‘sX¿w’ GXv Iem-cq-]-¯nÂs -̧«-XmWv?

(A) A\p-jvTm\ Ie (B) t£{X-Ie

(C) \r¯-Ie (D) \mSy-Ie

5. ‘X]w \n§-Ä sNbvtI XpSn¸q aa Nn¯w’
ASn-h-c-bn« ]Z-¯n\p kam-\-amb ]Zw GXv?

(A) hmin (B) a\Êv

(C) tZjyw (D) hgn

6. ‘kwKo-Xm-`n-cpNn F¶ ]Zw hn{K-ln¨v Fgp-XpI.

(A) kwKo-X-¯nsâ A`n-cpNn (B) kwKo-X-¯nÂ A`n-cpNn

(C) kwKo-X-t¯m-SpÅ A`n-cpNn (D) kwKo-X-s -̄¡p-dn-̈ pÅ A`n-cpNn

7. ‘IrjvW-KmY’ F¶ IrXn GXv hr¯¯n-emWv cNn-¨n-«p-ÅXv?

(A) A¶-\S (B) aRvPcn

(C) tII (D) If-Im©n

8. tIc-f-I-em-a-WvUew Fhn-sS-bmWv?

(A) Xp©³]-d¼v (B) ]me-¡mSv

(C) sNdp-Xp-cp¯n (D) Xncp-h-\- -́]pcw



9. tIcf kÀ¡m-cnsâ Gähpw henb _lp-a-Xn-bmb Fgp-¯-Ñ³ ]pc-kvImcw

(2022) e`n- -̈XmÀ¡v?

(A) s_\ym-an³ (B) hn. tZh-Zmkv

(C) tkXp (D) kmdm tPmk^v

10. GXp ]Z-amWv ‘sX¿w’ F¶mbn amdn-bXv?

(A) Xo¿v (B) ssZhw

(C) Znhkw (D) hoc³

11. ‘sNt½’ F¶ hm¡nsâ kam-\-]Zw GXv?

(A) F´p-sIm­v (B) `wKn-bmbn

(C) Ft¸mÄ (D) i_vZw

12. X¶n-cn-¡p-¶-h-bnÂ tNcm¯ tPmUn GXv?

(A) hn.-hn. A¿-̧ ³ þ tIm-hn-e³ 

(B) Fw.-BÀ. \mbÀ þ kRvP-b³ 

(C) Ia-em-kp-c¿ þ am[-hn-¡p«n 

(D) ]n.-kn. Ip«n-Ir-jvW³ þ \´-\mÀ 

13. IWn-s¡m¶ \ap¡p \ÂIp¶ kw`m-h\ F´mWv?

(A) sXfnª BImiw (B) aª-X³ a[p-c-kvanXw

(C) Ce-s]m-gnª imJ-IÄ (D) Cfw-Imäv

14. ae-bmf `mjbv¡v t{ijvT-`m-jm-]-Zhn e`n¨ hÀjtaXv?

(A) 2018 (B) 1998

(C) 2013 (D) 2020

15. ‘I®ocpw In\mhpw’ F¶ IrXn-bpsS cN-bn-Xm-hm-cmWv?

(A) cmap Imcym«v (B) hn.-Sn. `«-Xn-cn-¸mSv

(C) Fw.-sI. tat\m³ (D) am[-hn-¡p«n



Paper – I 
Part – B 

1st Language – Malayalam (BT) 
Question No. 16-30 

16. kvt\l-Km-b-I³ F¶ hnti-j-W-apÅ Ihn?

(A) hÅ-t¯mÄ (B) Ipam-c-\m-im³

(C) H.-F³.-hn. (D) _joÀ

17. “Rm\n-\n-̄ mt\ Ipfn-¨p-sImÅmw

Rm\n-\n-̄ mt\ InS-¶p-d§mw” F¶v kzbw Biz-kn-¡p-¶-Xm-cmWv?

(A) tN¨n (B) Ip«n (C) AizXn (D) tN«³

18. Hä-bms\ Is­-¯p-I.

(A) AÀ¡³ (B) BZn-Xy³ (C) ]I-tem³ (D) iin

19. ‘\mµn Ipdn-¡pI’ F¶ ssien-sIm­v AÀ°-am-¡p-¶Xv F´v?

(A) \µn ]d-bpI (B) Ah-km-\n-̧ n-¡pI

(C) Bcw-̀ n-¡pI (D) Fgp-Xn-X-¿m-dm-¡pI

20. AXym-{Klw F¶ ]Zw ]ncn-s¨-gp-Xn-bmÂ

(A) AXn + B{Klw (B) AXy + B{Klw

(C) AXym + B{Klw (D) AXv + B{Klw

21. A£-c-s¯-än-ÃmsX Fgp-Xnb ]Zw GXv?

(A) Aª\w (B) ASn-aXzw

(C) AÂ`pXw (D) {]_p²w

22. iàn-bpsS Ihn F¶p hnti-jn-¸n-¡p-¶-Xmsc?

(A) sNdp-tÈcn (B) CS-tÈcn

(C) A¡n¯w (D) Pn. Ipam-c-]nÅ

23. Ipam-c-\m-imsâ B²ym-ßnI Kpcp BcmWv?

(A) F.-BÀ. cmP-cm-P-hÀ½ (B) Im¡-\m-S³

(C) {io\m-cm-b-W-Kpcp (D) Fkv.-sI. s]mä-¡mSv



24. {[ph{]tZ-i-§-fnÂ ImW-s¸-Sp¶ hÀW-¡mgvNIÄ Adn-b-s¸-Sp-

¶sX´mWv?

(A) {[ph-¡mgvN (B) {[ph-Zo]vXn

(C) hÀW-hn-Xm\w (D) lna-¡mgvN

25. shÅ-s¸m-¡-¯nÂ F¶ IY Fgp-XnbXv XIgn inh-i-¦-c-¸n-Å-bm-Wv.

shÅ-s¸m¡w F¶ IhnX Fgp-Xn-b-Xmcv?

(A) kÀ sFkIv \yq«³ (B) Fw.-Sn. hmkp-tZ-h³

(C) hb-emÀ (D) F³.hn. IrjvW-hm-cyÀ

26. Zo]m-fn¯w F¶ ssien-bpsS AÀ°w F´v?

(A) Zo]w sXfn-bn-¡pI (B) hnf¡p I¯n-¡pI

(C) XpS¡w Ipdn-¡pI (D) [qÀ¯-Sn-¡pI

27. \mS-I-sIm-«I F¶ ]Zw thÀXn-cn-s¨-gp-Xn-bmÂ

(A) \mS-I-am-Ip¶ sIm«I (B) \mS-I-sa¶ sIm«I

(C) \mS-I-¯nsâ sIm«I (D) \mS-I-¯n-\pÅ sIm«I

28. “]m¼p-IÄ¡v amf-ap-­v,

]d-h-IÄ¡mIm-i-ap­v”    GXv \mS-I-¯nse Km\-am-WnXv?

(A) ASp-¡-f-bnÂ \n¶pw Ac-§-t¯¡v

(B) Aiz-ta[w

(C) \n§-sfs¶ I½yq-Wn-Ìm¡n

(D) ]m«-_m¡n

29. ]cÂao³ \o´p¶ ]mSw BcpsS Bß-I-Y-bmWv?

(A) kn.-hn. _me-Ir-jvW³ (B) Fw.-Sn. hmkp-tZ-h³ \mbÀ

(C) B\µv (D) XIgn inhi-¦-c-]nÅ

30. `qan F¶ AÀ°w hcm¯ ]Zw GXv?

(A) [cn{Xn (B) CZw

(C) `ph\w (D) PK¯v



Paper – I 
Part – C 

Mathematics  – English Medium 

Question No. 31 to 50 

31. Which among the following is half of 48?

(A) 2
8

(B) 4
4

(C) 2
15

(D) 4
7

32. What is (2+4+6+8+ ……. +60) - (1+3+5+7+ …… 59)? 

(A) 60 (B) 59 (C) 29 (D) 30

33. Digit in ones place of  330 + 331 + 332 + 333 + 334?

(A) 9 (B) 7 (C) 3 (D) 1

34. What is the least number by which 1 x 2 x 3 x 4 x 5 x 6 must be multiplied to get s perfect

square?

(A) 2 (B) 5 (C) 3 (D) 7

35. 1/4th of a tank contain water. If 900 litre more water is required to fill the tank, what is the

capacity of the tank?

(A) 1000 litre (B) 1100 litre (C) 1200 litre (D) 1500 litre

36. The average age of 7 members of a football team is 18. If the age of their coach is added, the

average increased by 2. Then what is the age of the coach?

(A) 24 (B) 34 (C) 28 (D) 20

37. In the picture, P is the mid point of AB. Then what is the ratio of the areas of Rectangle and

triangle?

(A) 8:1 (B) 3:2 (C) 4:3 (D) 4:1

A P 

C 

B 

D 



38. A train of length 200 meter takes 10 second to cover an electric post. What is the speed of

the train ?

(A) 100 km/hr (B) 54 Km/hr (C) 72 Km/hr (D) 108 Km/hr

39. A bank gives 1 paisa in 1 month for every 1 rupee deposit, what is the rate of interest?

(A) 1 % (B) 10 % (C) 8 % (D) 12 %

40. In the figure below, XY and MN are parallel. What is the value of  < x?

(A) 550 (B) 750 (C) 600 (D) 450

41. Which one below can be the measure of the sides of a triangle?

(A) 5, 6, 7 (B) 3, 4, 7

(C) 21, 11, 9 (D) 5, 15, 10

42. The temperature recorded in Munnar on January 1st was -120 C. At 12 noon, temperature

increased by 80 C. Then what is the temperature of that time ?

(A) -200 C (B) 40 C (C) 200 C (D) -40 C

43. What is the difference of a 3 digit numbers and its reverse is 396. Then, what is the

difference of the number in the hundreds place and ones place?

(A) 2 (B) 4 (C) 3 (D) 7

44. The length of a rectangle is increased by 10%. But breadth decreased by 10%. Then what is

the change in their areas?

(A) Increased by10 % (B) Decreased by 10 %

(C) Increased by 1 % (D) Decreased by 1 %

M

X Y

N
135’ 

x



45. The Angles of a triangle are in the ratio 5:6:7. What is the measure of its bigger Angle ?

(A) 500 (B) 600 (C) 700 (D) 800

46. There are five Saturdays in October but not five Sundays. Then, which day is Gandhi

Jayanthi?

(A) Friday (B) Saturday (C) Sunday (D) Tuesday

47. What is the number of factors for 23 x 34 x 45 ?

(A) 12 (B) 13 (C) 60 (D) 70

48. What is the area of the square in the figure below?

(A) 16 square centimetre

(B) 34 square centimetre

(C) 32 square centimetre

(D) 30 square centimetre

49. Rani bought 17 pens and she got 3 more as free. What is the percentage of discount?

(A) 15% (B) 17% (C) 20% (D) 25%

50. Reena is 13 years older than Seena. Total age of them is 59. Then what is the age of Seena?

(A) 36 (B) 46 (C) 23 (D) 32


